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LB DR ELE
=] bAN(=)) 22 (A) 23 (X) 24 (XK) 25 (K) 26 (&) 27 (X)
SR - - - - - - _
BARERAET (m2) - = - - - - = _
TR (L/m2 - E) X! - - - - — — —
SR NEZHDEANE 2,.13E-05 (8&K) [3.32E-05 (&A) [3.15E-05 (8®A) [3.12E-05 (]A) M.02E-05 (®A) [4.39E-05 (8]K) [2.18E-05 (8]&X)
78 (Ba/cm3) *2 ND*®  (84V) | ND*2 (&)Y | ND*2 BV | NDFP BV | NDF2 (BN | NDF (BN | NDE (BN
B 28 (A) 29 (A) 30 (X) 31 (K) 1 (K) 2 (&) 3 (1)
SR - - - - - - _
B EEAST (m2) - - - - - - = _
TIEE (L/m2 - E) X! - - - - - - -
YR NEZSDEHNE 2.91E-05 (]&X) [3.09E-05 (B&XA) [3.37E-05 (®A) @.71E-05 (]|A) [3.05E-05 (]|A) [4.31E-05 (8]&K) [4.90E-05 (8]&X)
(Ba/cm3) *2 ND*3 (&) | ND*2 (&Y | NDFP (&) | ND*E (&Y | NDFP (&Y | NDFE (BN | NDFP (&)
=] 4 (B) 5 (A) 6 (N) 7 (K) 8 (X) 9 (&) 10 ()
B3l S - - - - _ _ _
BPEBAST (m2) - - - - - - = _
FAIHARR (/m2 - E) - - - - - - -
YR NEZSDFHANE 2.34E-05 (§&K) [3.09E-05 (8]A) [3.22E-05 (®X) [3.53E-05 (&A) [3.58E-05 (§X) [5.67E-05 (]&A) 4.64E-05 (|K)
(Bq/cm3) *2 ND*3 (&) | ND*2 (&Y | NDFP (&Y | NDFE O BV | NDFE (&Y | NDFE O (BN | NDFE (&Y
B 11 (H) 12 (A) 13 (Q) 14 (K) 15 (K) 16 (&) 17 (%)
B S - - - - _ _ _
B EEAST (m2) - - = - - - = _
TOEE (L/m2 - E) X - - - - - - -
YR NEZSDEHAE K. 18E-05 (8®K) [3.09E-05 (&]A) K.40E-05 (R®KX) HM.04E-05 (8]&A) [3.75E-05 (®KA) HM.95E-05 (]A) [3.93E-05 (%|X)
8H (Bg/cm3) *? ND*3  (8/1\) | ND*? (&) | ND* BV | ND*P &Y | NDFP (&)Y | NDFP (&Y | NDFP (&Y
=] 18 (H) 19 (A) 20 (X) 21 (K) 22 (XK) PENE) 24 (1)
B3 S - - - - - - -
BPEBAST (m2) - = - - - - = _
FOHIE (L/m2 - B) X - - - - - - -
YR NEZSDFHANE.97E-05 (§&K) 2.82E-05 (8]A) W.09E-05 (§|X) [B.66E-05 (8&A) [3.25E-05 (§|KX) [.48E-05 (F\A) 4.67E-05 (]|K)
(Bq/cm3) *2 ND*3 (&M | ND*2 (&Y | NDFP (&Y | NDFE BV | NDFE (&Y | NDFE O (BY) | NDFE (&Y
B 25 (B) 26 (A) 27 (K) 28 (K) 29 (XK) 30 (&) 31 ()
SR - - - - - - -
BAREEAST (m2) - - - - - - = _
TIEE (L/m2 - @) ! - - - - - - -
EHY X MEZADEHNE 3.98E-05 (&A) [4.33E-05 (&AXA) 4.05E-05 (&K) - (]X) - (]&X) - (]&X) - (FX)
(Bg/cm3) *2 ND*®  (8V) | ND¥2 (B | NDFP (B - (&) - (&) - (&Y - (&N
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EainseJi=—u - - - - - - -
8A | wmmm@East (m2) - - - _ - - - _
ToEmE (L/m2- @) ! - - - - Z — —
WY 2 NEZSOHANE [3.98E-05 (F]&A) [4.33E-05 (&A) [4.05E-05 (8A) B.95E-05 (&AXA) [3.62E-05 (&]A) [3.05E-05 (8®A) MB.21E-05 (&]|X)
(Bq/cm3) *? ND* (&)Y | ND*2 (&) | NDFP (&) | ND® BV | NDFE (&) | NDF° (BN | NDF (BN
=] (=) 2 (A) 3 (W) 4 (K) 5 (K) 6 (&) 7 (1)
BATRSRAER - - - - - - -
B EmAT (m2) - - - - = = = _
AR (Um2 - @) *! - - — — — — —
BHSZ MEZSDEHANE B.37E-05 (8&A) [6.18E-05 (&K) [7.08E-05 (8&A) [3.66E-05 (&KX) [5.52E-05 (&A) W.08E-05 (F]A) [4.34E-05 (§K)
(Bg/cm3) *? ND* (&M | ND*2 (&) | NDFP (&) | ND® (&Y | ND*E (&) | NDF°2 (&) | NDF (BY)
=] 8 (H) 9 (A) 10 (K) 11 (%K) 12 (K) 13 (&) 14 (%)
EGinoEJi=2 - - - - - - -
B EESET (m2) - - - - - - - _
TR (L/m2 - @) - - - - - - -
W5 2 NEZSOFHANE 2.79E-05 (8RA) [2.78E-05 (&A) [3.88E-05 (&A) [6.18E-05 (&A) [3.61E-05 (&AK) [5.55E-05 (®X) WB.13E-05 (&]AX)
08 (Bg/cm3) *? ND*3 (&) | ND*® (&) | NDFP (&Y | ND*2 (&Y | ND* (&) | NDFP (&Y | NDFE (B
=] (=) 16 (A) 17 () 18 (K) 19 (K) 20 (&) 21 (%)
e Ji= - - - - _ _ _
gpEfaEt (m2) - = - - - - - _
TR (/m2 - @) - - - - - - -
@52 NEZSOHNE[5.50E-05 (]A) [4.91E-05 (8]A) [6.12E-05 (8X) MB.07E-05 (&%&X) [4.05E-05 (8]A) [3.11E-05 (8X) .91E-05 (]|X)
(Bq/cm3) *? ND* (&)Y | ND*2 (&) | NDFP (&) | ND O (BY) | NDFE (&) | NDF° (BN | NDFE (BY)
=] 22 (H) 23 (A) 24 (R) 25 (k) 26 (K) 27 (&) 28 (%)
e T - - - - — - _
wrmEfEaEt (m2) = - - - - - - _
Fi9EefE (L/m2 - @) ! — — — — — — —
EHESZ NEZSDFHME 3.71E-05 (%K) W.68E-05 (&K) [6.53E-05 (&K) - (&X) - (&X) - (&X) - (]&K)
(Bg/cm3) *? ND* (&)Y | ND*® (BN | NDFEP (BN - (&) - (&/V) - (&)Y - (&Y
=] 29 (A) 30 (A) 1 (K) 2 (K) 3 (K) 4 (&) 5 (1)
GnoEJi= - - - - - - -
108 mmamat (m2) - - = - - - = N
FogmE (U/m2- @) ! - - - - Z — —
B X NEZ S DEHANE - (&X) - (&X) - (&X) - (&X) - (&X) - (&X) - (]&K)
(Bg/cm3) *2 - (&Y - (&)Y - (&Y - (&)Y - (&/V) - (&)Y - (&/V)
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